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Problem #1 Series Circuit Analysis (20 points)
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The Battery’s Voltage is: Vs = 6 V
The Resistance of each resistor: R1 = 100 Ω, R2 = 200 Ω, R3 = 300 Ω

Calculate the current along this simple series circuit.
Solution: 

I =
(Don’t forget the units…amps, volts, ohms…or the prefix: milli, micro, nano, pico)
Problem #2 Parallel Circuit Analysis(20 points)
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The Resistance of each resistor: R1 = 200 Ω, R2 = 300 Ω, 
The Current across each resistor: I1 = 60 mA , I2 = 40 mA
Calculate the voltage across each resistor VR1 and VR2. 
Calculate the battery’s voltage: Vs?
Solution: 

VR1=
VR2=
VS  =
(Don’t forget the units…amps, volts, ohms…or the prefix: milli, micro, nano, pico)

Problem #3 Diode Circuit Analysis(20 points)
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The Resistance of each resistor: R0 = 1KΩ

The diode’s threshold voltage is 0.7V (Voltage required to turn the diode “on”).

For a DC voltage of 1.7V, calculate: I1, I2 & the voltage drop across R0 (VR1). 

Recalculate the above if the DC source is 0.3V?

Solution: 

I1=

I2=

VR0  =

I1=

I2=

VR0  =

(Don’t forget the units…amps, volts, ohms…or the prefix: milli, micro, nano, pico)

Problem #4 Diode Circuit Analysis(20 points)
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Using the above resistor values and a DC voltage of 3.7V, calculate the total current flowing through the circuit.

The diode’s threshold voltage is 0.7V (Voltage required to turn the diode “on”).

Solution: 

Itotal=

 (Don’t forget the units…amps, volts, ohms…or the prefix: milli, micro, nano, pico)
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